
4. b)  = 
2x⋅b−1( )

2b−1( ) b−1( ) +
1⋅2b−1( )

2b−1( ) b−1( ) = 0     ⋅HN

2x ⋅ b−1( ) + 1⋅ 2b−1( ) = 0  ⇔  2x ⋅ b− 1( ) = 1− 2b ⇔  x = 1−2b
2b−2   da  b ≠  1

Ergebnis: = 1−2b
2b−2{ }

5. b)  =  \ { –2 }; t⋅t
x+2( )⋅t −

x +2( )⋅t
x +2( )⋅t =

x +2( )⋅1
x +2( )⋅t     ⋅HN

t2 − t ⋅ x + 2( ) = x + 2  ⇔  t2 − t x − 2 t = x + 2  ⇔  t2 − 2 t − 2 = x + t x = x ⋅ 1+ t( )

1. Fall:  t = –1:    1= x ⋅ 0 2. Fall:  t ≠  –1:    x = t2 −2 t−2
1+t

Dies ist nicht wahr für alle Werte von x.

Ergebnis: =
t2 −2t−2

1+ t

 
 
 

 
 
    für  t ≠ −1

    { }        für  t = −1

 
 
 

  

6. b) = \ 0 ; a{ } ;
2⋅x−a( )
x⋅x−a( ) = 1⋅x

x−a( )⋅x     ⋅HN

2x − 2a = x  ⇔  x = 2a Ergebnis: = 2a{ }

24. a) s =
a

1− q
   ⋅ 1− q( )        c) w =

u − v
uv

   ⋅ uv( )

a = s ⋅ 1− q( ) uvw = u − v    − u uvw = u − v    + v

a = s − qs    + qs − a uvw −u = −v uvw + v = u

q =
s − a

s
= 1−

a
s

u vw −1( ) = −v    : vw− 1( ) v uw + 1( ) = u

q ∈ \ 1{ } u =
−v

vw−1
v =

u
uw +1

a, s ∈ \ 0{ } u, v ∈ \ 0{ } ;   vw ≠ 1;   uw ≠ −1

9. d) = \ − a
2 ; a

2{ } ;
a −1

a + 2x
+

4a2 − 5a

a2 − 4x2 =
a − 2
a − 2x

a −1( ) a − 2x( )
a + 2x( ) a − 2x( )

+
4a2 − 5a

a − 2x( ) a + 2x( )
=

a − 2( ) a + 2x( )
a − 2x( ) a + 2x( )

   ⋅HN

a −1( ) a − 2x( ) + 4a2 − 5a = a − 2( ) a + 2x( )
a2 − 2ax − a + 2x + 4a2 − 5a = a2 + 2ax − 2a − 4x

5a2 − 2ax + 2x − 6a = a2 + 2ax − 2a − 4x    − 5a2 + 6a − 2ax + 4x

−4ax + 6x = −4a2 + 4a    : 2 ⇔    x 3 − 2a( ) = 2a − 2a2

1. Fall:  a = 3
2 : x ⋅ 0 = 3 − 9

2 = − 3
2 Dies ist nicht wahr für alle Werte von x.

2. Fall:  a ≠ 3
2 : x =

2a⋅1−a( )
3−2a

Ergebnis: =
2a⋅1−a( )
3−2a{ }    für  a ≠ 3

2

    { }        für  a = 3
2

 
 
 

  


